
 / ndf 2χ   6020 / 253
Constant  7.416e+01± 1.058e+04 
MPV       0.011± 2.504 
Sigma     0.0039± 0.7584 
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 / ndf 2χ  542.1 / 219
A_core    84.9±  5900 
sigma_xy  0.016± 3.169 
B_tail    27.6±   773 
lambda    0.060± 4.869 
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 / ndf 2χ   7052 / 268
Constant  62.1±  8848 
MPV       0.014± 2.863 
Sigma     0.0046± 0.8982 
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 / ndf 2χ  825.8 / 232
A_core    82.4±  5815 
sigma_xy  0.018± 3.694 
B_tail    22.8± 687.7 
lambda    0.064± 5.541 

 0.02±sigma_xy = 3.69 

 E = 5.0 GeV

size = 10x10

λ R/∆- etail + B
2
xyσ2

2 R∆-

 e2
xyσ
 R∆

core
 R)=A∆f(

MC - xcluster x = x∆

MC
 - y

cluster
 y = y∆



 / ndf 2χ   6561 / 208
Constant  7.500e+01± 1.066e+04 
MPV       0.011± 2.504 
Sigma     0.0038± 0.7387 
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 / ndf 2χ  638.6 / 201
A_core    84.2±  6399 
sigma_xy  0.013± 3.118 
B_tail    26.7± 640.2 
lambda    0.069± 4.898 

 0.01±sigma_xy = 3.12 

 E = 10.0 GeV
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